PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

18th July 2016, 03:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

River Kshipra merges into the__./7d! R __# fach= g ot 81
* Son/¥H
e Swarna/ Ul
® Narmada / T'ITTET

* Chambal / d9d
Correct Answer :-Chambal / 9dd
2)
Question Stimulus :-

The protest against the Salt Law led to the / WW%W%QWW%WW T
® Dandi March /E."i_eppf ar
® Quit india Movement / HIRd @ﬁ:‘ﬁ W
® Civil Disobedience Movement / TTI-TT QT Teia-
® Khilafat Movement/m GI'I_Q'-']W
Correct Answer :-Dandi March / Gi&! AT
3)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / I Uy &
9% T FTd PSR i) IIfpal I ST g

® Horse and stable / YI"\ST 3R e
e Birds and Nest / fIf$ar 3R Tidan
®* Dog and Den /W\’rﬁ?ﬂﬂ

()



e Sheep and Pen / ﬂSGﬁTEIET
Correct Answer :-Dog and Den / T 3fiR T[&T
4)
Question Stimulus :-

What does WWW stands for? / S s S &1 IR &Y FIT 82
® Whole World of Web / B IS 31 a9
* Wide World Web / IS aI$S d9
* Wild World Web / 9TS¢S 9¢S dd
* World Wide Web / ITS aTS8 a9
Correct Answer :-World Wide Web / ¢S dT$S 49
5)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe qﬁq
St faT T Sy Td epul $ aR § 9l 2l

Statements: / PY-:

All roses are flowers / I MGICR S g

All lilies are flowers / 9 32 Ba &
Conclusions: / fAssd:

I. All roses are lilies / I. 94 ame fereft &
II. All lilies are roses / 11. 'H‘l-ﬁﬁ?ﬁ'ﬂﬁﬁ%

® Only conclusion | follows / Had ey 1 fHaan %
® Only conclusion Il follows / Had ey 1| T %
® Both conclusion | and Il foIIows/EﬂTﬁ frspy 1 3T 11 fFipad %
® None of the conclusion I or Il follows/ﬁwﬁf IATII® q aﬂé '-'-Iﬁ Freaar %
Correct Answer :-None of the conclusion I or Il follows / s I a1 1T & 9 #IS 1) fFiperar

6)

©)



Question Stimulus :-

CANCELLED

P+Q means P is the son of Q; P-Q means P is the wife of Q, PXQ means P is brother of Q,
= Q means P is mother of Q and P=Q means P is sister of Q. / P+Q ﬁﬂ?ﬁﬁ% P, Q WQET%;
P-QFTHIGIE P, QP Ul S, PX QBTHAAI G P, QPTHE &, P+ Q BT HAGI & P, Q I Hi § ok
P=Q &1 Wdad § P, Q B 98 ¢

What does U=W+V mean? / U=W+V WWW%?
° UistheauntofV/U,Va%§\3rlT%I
® Uisthe sisterofV/U,Vﬁaﬁ%I
® U is the daughter ofV/U,Vﬁa'a%I
° UisthenieceofV/U,Vaﬁ‘H?ﬂﬁ:f%l
Correct Answer :-U is the sister of V / U, V &1 981 &1
7)

Question Stimulus :-

Harshita Tomar is related to which of the following sports? / gitfar ar Fufafea o 9 fva 9w 3 9@&9fita
&

® Mallakhamb / HeaWH

® Sailing / HIfT

* Kabbaddi / DAl

® Women’s Hockey / TI'%ET Eﬁ'ﬁ

Correct Answer :-Sailing / |ITeHT

8)
Question Stimulus :-

In the following sequence, how many letters are followed by a number and then a symbol? / o SshH ff, foaa

3eR TR ¢ P 91 Te T.IT Ud SUSP 918 TS Ude 22

Y4&L>2G7WATZ*K6S7TH6SE&(R13NS@5+?QJ*3P9?#5YHY% 7B8<6
e 4

5

(4)



e 3

e 8
Correct Answer :-5
9)

Question Stimulus :-

A,B,C,D,E and F are members of a club. There are two married couples in the group. A is
the brother of D’s husband. C is the president of All India Working Women'’s
Association. F, a sitarist, is a bachelor. B's wife is not a member of the club. Four of
them belong to the same family. B and F are colleagues in the same organization. /

A,B,C,D,E 3R F U w74 & 4 81 59 e # &l [ared e &1 A, D & ufd &1 Wi 81 ¢ 3ifa
sf&ar af$ fau= vaifReem &t srwaen 31 F, ' RidRare®, $aRT 31 B & U6l 59 Fd &) Hax el
21 578 @ IR I TP & URAR & T F1 B IR F, U5 & §Ie § wepH £

How is F related to B? /F, B T HY Hefia %?
®* Brother/ ‘l-l'lﬁ
e Nephew / Yo eI
e Father /fimr
e Data inadequate /GI'CI'Qle el %

Correct Answer :-Data inadequate / 3Ugiw 22T @

10)
Question Stimulus :-

Which is the largest Shipyard in India? /HTRd ¥ T TST U WiITUT B AT B2
® Cochin Shipyard / P T Ui
® Hindustan Shipyard / %g'\‘?ﬂ:[ e Ui
® Goa Shipyard / T Ui Wi

® Naval Dockyard / AT ApraTe

Correct Answer :-Cochin Shipyard / S+ Uid WidT0r

11)

Question Stimulus :-

(5)



If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / Tfe Y 3NX WR 3THfa &Y g9 Y T=HAT 31 F o wics foar siar g, @ g fowen & 9
®H I faper ¥ was eril iR femmd T waw & fawdia 32

ID

-]

Correct Answer :-

12)

Question Stimulus :-

The capital of Kashi was / PR I Ioremt R
® Pataliputra / tl'l??ﬂ'gﬁ
® Varanasi/ IRTURIT
® Taxila / H&Iﬁl’c‘“
® Kaushambi / ﬁw

Correct Answer :-Varanasi / GRTURIT

13)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / g fawe ﬂﬁl'l{,ﬁﬁ a& &I P
AR mUFEFAF I T :

(6)



It is not true that both Hyderabad and Bangalore are in India. / U8 9T e & fop gaare 8k
TR S & URT A §
* Hyderabad is not in India or Bangalore is not in India. / BeRTaTE HIRd A 181 § a1 ST’
YR § 781 31
* Hyderabad is not in India and Bangalore is not in India./ %mmzmm-crfrqé’r%sﬁv
ATAR URA A 81
e Hyderabad is not in India and Bangalore is in India / 8G3TdT¢ HIRd H 78l § 3R STaR
YRAA B
e Hyderabad is in India and Bangalore is not in India. / 3e376T¢ HRd § § 3MR SR HRd
g 81
Correct Answer :-Hyderabad is not in India or Bangalore is not in India. / BERTETE HIRd A
81 8 91 dTaR YRd o 181 g
14)

Question Stimulus :-

K is 5th from the left and M the 6" from the right. Wher! they interchange their positions, K is the 13 from the left.
What is M’s position from the right? / KaTgéh?'\ﬁTﬂ?ﬁTQa M 'Q’Ig Gh?"\ﬁ@—o"f'%l 9 ¥ 3= fRAufa &1
MUY § g¢drd B Ad §, K 915 3R ¥ dvgdl 8l SIaT 8] < ok 9 M &1 fRufy «r 82

® 4th
® 8th
® 14th
® 15th

Correct Answer :-14th

15)
Question Stimulus :-

Directions: 5 persons are sitting in row. One of the two persons at the extreme ends is
intelligent and other one is fat. A fat person is sitting to the right of a weak person. A
tall person is to the left of the fat person. And the weak person is sitting between the

intelligent and fat person/ﬁ%ﬁ:smwﬁﬁ%@%lwﬁ?%ﬁmﬁﬁw
ISATT § T4 gORT WieT 81 U9 Hiel Jafad U $HOR Afad & glfeq 3R 93T 31 U a1 aufad Aver
Afdd & T 3R 3T 81 3R PUWR aAfda gigA R 7 afed & i & Jo1 71

Which of the following persons is sitting at the centre? /ﬁ'ﬂ # P 91 safad g A ao1 %?

* Intelligent /ng?m'—r
(7)



e Fat /dIel
* Fair /7RI
* Weak / $HR
Correct Answer :-Fat / diel

16)

Question Stimulus :-

is a permit which allows a country or organization to produce certain amount of carbon emissions. /

TP IF1-UA 8 N TP o= AT W6 & U Fra+ It &1 i aen § Iared :1 & fog esrgafa
T Bl

® Carbon stock / BT HISR

® Carbon store / BT TeTH

® Carbon copy/ PTa Tbd

e Carbon credit / ®Ta YeId
Correct Answer :-Carbon credit / BT TGg
17)
Question Stimulus :-

Bhimbetka caves are famous for its / frrdesT I[Cb'l'({ m ﬁ'l"'{ RIS %'I
° Scqutures/‘Iﬁ'ﬂT
® Tiger parks / CISTIR U1
® Rock paintings / o et
® Cave art/[WT Pl

Correct Answer :-Rock paintings / A

18)
Question Stimulus :-

This king embraced Buddism after the Kalinga war / §9 XTSIl = &feiil & & uyTd 9& o DI ST YT |

® Bindusara / ﬁg‘m?

(8)



® Rashtrakoota /TgPC
® Ashoka / 3N
® Akbar / PR

Correct Answer :-Ashoka / 32N

19)
Question Stimulus :-

The Attorney General of India is appointed by the President under ./ HIRd &1 HeT=aTaaret ?Tgtﬂ%f gIRI
¥ agd Frgaa fopar wirar 81

* Article 165 / 355G 165
* Article 76 / 359G 76

° Article 148 / 355G 148
* Article 153 / 355 153

Correct Answer :-Article 76 / 356 76

20)
Question Stimulus :-

Who holds the record of making the longest speech in the history of the United Nations? / Fﬂﬂﬁ MY Cg gi%ra'm |

T T U A &1 Reprs fopa saran?
® VK Krishna Menon / a1 Cay) R
® Narendra Modi / :ﬁ?(' ﬁm
® Vladimir Putin / STTGHR gfes
® Dr. Manmohan Singh / gl ﬂ:ﬁ:ﬁm

Correct Answer :-VK Krishna Menon / 9% ST A=

21)
Question Stimulus :-

Who was the first female Governor of Madhya Pradesh? / H&I 'FI%EZT B UYH 'FI'%ET ISaUTd B A2

® Sarla Grewal / H3dI JYard

©)



e Sheila Kaul / dl Bia
* Sarojini Naidu / \ITSTI aAlhag
® Sharda Mukherjee / RIMRGI 'ﬂ@\_rﬁ

Correct Answer :-Sarla Grewal / I3l Jard

22)

Question Stimulus :-

Who among the following won the election of President as an unopposed candidate? / ﬁfﬁﬁl@ﬂ' ¥ 3 foram U

fAfRty Swfigar & = & gl o1 g9 Sftar?
® Dr. Rajendra Prasad / T X% YRITG
* V.V.Giri/dt.dt. iy
® Sanjeeva Reddy / ﬂvﬁai‘g"r
® Dr. Zakir Hussain / 1 ST §'®=r

Correct Answer :-Sanjeeva Reddy/ﬂ'ﬁﬂ_q'i?;ﬁ

23)

Question Stimulus :-

The number of states in India are / HIRd = Tﬁfh B T %

e 28
® 29
e 30
e 22
Correct Answer :-29

24)

Question Stimulus :-

Direction: A person is asked to put in a basket one apple when ordered one, one guava
when ordered Two, one orange when ordered Three and is asked to take out from the
basket one apple and one guava both when ordered Four. The order sequence executed by
the person is as follows; / fdY: T iR & TF AP A TP A9 SO P o€ HgT S1d1 & &9 T
ST 3T T, U 3RTFE SId guRT SNSRI TN T, UH a1 9id IRy e fam 1 ok 39®! ta a9

(10)



sﬁwqgmﬁmﬁaﬁwwmiﬁwam&mmn 3T & IIhH U Hfad gRT Aeaifed 59
UPR g;

12332142314223314113234

How many guavas will be there in the basket at the end of the above order sequence? /

SR & A & IHH & 3id F e F fbaq 3reg o g2
e 1
e 2
e 3
e 4
Correct Answer :-2

25)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& fape ﬂﬁl"!,\_ﬂ)f qH Bl EHiY
Ry T Sy & THT | :

If he goes by walk, then he will miss the train. He didn’t missed the train./ uﬁa—gﬁaﬁ
STdT 8, df SADI e Fe Td] g1 DI e el el |

e He didn’t go by walk / 98 Ucd g} T
* He went by walk / 98 Ted a1
* He went by car/ﬂ"s’Wﬁ‘TCIT
® None of the above / Gqﬂaaaﬁéqzﬁ

Correct Answer :-He didn’t go by walk / 98 Ued =gl 74T

26)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / gy ﬁ, tl?ﬁ ar tl??f ¥ g foreht
TPR T B3 way 3| 0 fawen & I 9vur ug g e R ue & a1y St veR @1 99y 2]

ABD : CDF :: MNP : ?
® KLM

® LNO

(11)



® VXY
® EFH

Correct Answer :-EFH

27)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe ‘grﬁnz
Sil 3T 7T HyAY vd el & 9§ 9@ ]

Statements: / Y:
All bottles are iron / 9 didd @l &
Some bottles are paper / $9 dd SIS %

Conclusions: / fsm:

I. Some iron are paper / I. 99 Fﬁ% DT ?

II. Some paper are iron / II $9 W?ﬁ% %

® Only conclusion | follows / W foreed 1 IGEASGI] %

® Only conclusion Il follows / Fad sy 1 Feear %

® Both conclusion | and Ii follows / Il fAsd I 3R II fHied &

® None of the conclusion l or Il follows/ﬁwﬁf IGTII® @' ﬁ'é' :ré’f Freaar %
Correct Answer :-Both conclusion | and Il follows / -} feret 1 3R 11 e %

28)
Question Stimulus :-

Where is the headquarters of the Western Naval Command located? / gf3rft e s BT ATy &gl
fem e

* Kochi/PIf=

® Karwar / PRARX
® Mumbai / 'ﬁﬁ'&f
® Goa/al

(12)



Correct Answer :-Mumbai / 43§

29)
Question Stimulus :-

If cream cracker means computer programming, and it's not programming, then it’s
not cream cracker. / afe HH HHT BT AdAd S TR 8, 3% a8 Wi =8 |, a9 ag Hia
e T 7

®* True / el

* False / Teld

e Maybe / ﬁm%

® Irrelevant / SRS

Correct Answer :-True / 9gl

30)
Question Stimulus :-

Which Mughal Emperor built the Taj Mahal? / dTsl Hg¢l o HIC ITSIT = STaTET °1?
® Shah Jahan / RIT§ FIE‘TJ
® Bhahadur Shah / d8IgY¥ RTe
® Akbar / hER
® Aurangzeb / GﬁTTIﬁ_Q'
Correct Answer :-Shah Jahan / 9ITg STl
31)

Question Stimulus :-

In which hemisphere does India lie? / HIXd %\‘T Tﬁ?l'l?s(p ﬁ %?
* Northern and Eastern / ST} 3fl% Tjﬁf
* Southern and Western / Gf&f0f} 3R ufyrdt
® Southern and Eastern / m 3R Tcﬁ
® Northern and Western / ST} 3flR af et

(13)



Correct Answer :-Northern and Eastern / ST 3% gdf

32)
Question Stimulus :-

The Bhakra Nangal project is on the river / HTEST "d CIRRICE] 39 TGl R f
® Damodar / E'I'FﬁET
® Sutlej / HdeSl
® Mahanadi / qgﬁ?:ﬁ

* Tungabhadra / JTHS

Correct Answer :-Sutlej / Hddol

33)
Question Stimulus :-

Chambal project is a joint venture of the states of / T¢I ufegieT 1 sl &1 fren el dTedd P %’
® Rajasthan and Madhya Pradesh / ITSTRITH d HH ety
® Chhattisgarh and Madhya Pradesh / m 3R e T

e Uttar Pradesh and Madhya Pradesh / 3&R USRT 3fR TSI USRT

® OQrissa, Chhattisgarh and Madhya Pradesh / B@W, @Fﬁ'\‘m_é, 3R A =T

Correct Answer :-Rajasthan and Madhya Pradesh / JTSTRITS § AT WX

34)
Question Stimulus :-

Three friends want to hire a taxi for a trlp The taxi owner provndes them with following

three options: / @9 R4 TH I & forw U SRt fHRT R &A1 Tred &1 TRi wifers 3%
9 fawer yegH o ?:

A. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for Rs. 500 per day. / A. 3lU ﬁT-ITs'IEH?a?

SR fARIT R @ ToHd § SHPT fH URifeT 2500 FUY FITI FIFAR GoLT Toivil A 3T Thdl § SAPBT da
500 =T yiifeT ghmI

B. You can hire the taxi with driver from the first agency. This would cost you Rs. 2800 per
day. But driver will have to be provided relief fund of Rs.250 per day\if total distance
traveled exceeds 1500 KM. / B. 317 Ugdll Toidl & SEAR & 1Y TRl & THd g1 I9HT 2800 ufd faT

(14)



FUY BT T AT dAfb Tread I Ul &7 250 & I8d B ST R, Al Fo gt BT AT Dt 1500
frariier & it gt

C. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for 50 paise per KM. / C. 3[lU ﬁF—lT;Ts‘q’?%

SRY fHIT R @ THd § STPT fH=mn yiifdT 2500 FUY 11 SIFAR go™! Lokl A 3T Ahdl § SABT da-T
50 U ufa fpariiex grm

Option C would be preferable to Option B if they plan to travel: / C fopeuB 9 éw él‘ll R A g g Y ST
I

* 1000 kmsin 1day / 1 f& & 1000 .3,
® 3000 kmsin3days/3 feq # 3000 f&.Ht.
® 5000 kmsin4days/ 4 fea # 5000 .41,
® 2500 kmsin3days/ 3 feq # 2500 5. H1.

Correct Answer :-3000 kms in 3 days / 3 f& # 3000 f&.H1.

35)

Question Stimulus :-

The Aga Khan award was presented in 1998 to Government of Madhya Pradesh for the outstanding architecture

of /%3y AT & T Ae0 UexT WRER B 1998 H SN W REDR 0T /T
e Vidhan Bhavan / f8T9 ¥a9
® Vallabh Bhawan / d¢eiH HdH
® Taj-ul-Masjid / AToI-30-ATEIG
® Bharat Bhavan / UHIRd Hd+
Correct Answer :-Vidhan Bhavan / fq8= Ha=
36)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& fape ﬂﬁl’({,\_rﬁ qH Bl iy
A e F a7 :

It is not true that both Swarna and Swapna are writers. / g 94 TE1 ® fF o T+t ek
AT AP ¢

e Swarna is not a writer and Swapna is a not a writer. /meﬁ%&ﬁ?ﬁww
dEP T8I Bl

(15)



e Swarna is not a writer or Swapna is not a writer. /WWWH@T%WWW
ATD L B

* Swarna is not a writer and Swapna is a writer. /Eﬂfwﬁwqﬁ%ammwaw
gl

®* Swarna is a writer and Swapna is not a writer. /Wﬁﬁw%&ﬁ?m@mqﬁ
gl

Correct Answer :-Swarna is not a writer or Swapna is not a writer. / I TP a@® T8l &

T WUAT TP AP 8l gl

37)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe @ﬁt{
Sil f3T 7T Hy=Y Td frepuf & av § I B

Statements: / DY:

Some tables are chairs. / $9 T d ?ﬁfﬂT H
Some tables are cots. / P9 EREGESS] %'I
Conclusions: / e

I. Some chairs are cots. / I. $® HRI &7 &1

II. All tables are either chairs or cots / II. & ¢gq a1 a‘rg:‘\tﬁm aed &
® Only conclusion I follows / W foreed 1 Freaar %
® Only conclusion II follows / Fad frwd 11 e %
® Either conclusion I or conclusion IT follows / TT ol forsed 1 a1 e forsed 11 Froadar %
® Neither conclusion I nor conclusion II follows / T d fspd I foraar % R B frepd 11

Correct Answer :-Neither conclusion I nor conclusion II follows / 5 T foreed 1 Froaar % Gﬁ? T a
s 11

38)

Question Stimulus :-

A sales representative plans to visit each of six companies M,N,P,Q,R and S exactly once
during the course of one day. She is setting up her schedule for the day according to the
following conditions: / & fathdr afafafy 3 =T 1€ &1 M,N,P,Q,R 3iR S T: H 8 TP HUI &I
f&a & frmfale armg ¥ de 3 | 3O+ @ @9 &1 Friww au o Py waf & SR -

1. She must visit M before N. / 1. 3H®I M &1 N & Ugd H¢ <1 81 9l
(16)



2. She must visit N before Q. / 2. 3U®!I N &I Q & Uga He &1 8l Tful
3. The third company she visits must be P. / 3. I He B IR BT P ﬁiﬂﬁ’rﬂﬁ%ﬂ I

Which of the following could be the order in which the sales representative visits the six

companies? / 9 & @ &9 91 % g Godr g, Srad fagrar ufaffyr ©: suf~al & s aoar 22
* MS,P,NRQ
e QN,PRSM
* M,RN,QP,S
* P,SMR,QN
Correct Answer :-M,S,P,N,R,Q

39)
Question Stimulus :-

How many times consonants exceed vowels in the word, ‘ADVANCEMENT'?/

*ADVANCEMENT’ ¥ieg & & Wl & foraq 9 arftres 82
e 1
. 2
e 3
e 4
Correct Answer :-3

40)
Question Stimulus :-

Which of the following belongs to the same family as coal, ebony and soot? / 1 ¥ B9 A 330 uRar 3
TaIfta § R 6 e, ey ok Fifa?

® Blush / TRHATAT
® Raven / PIdl P
® Ash / ¥39

® Rust / S

(17)



Correct Answer :-Ash / 39

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Tickets numbered 1 to 10 are mixed up and two tickets are drawn at random. What is the probability that they are multiples
of 3? /1 ¥ 10 U9 H&IT & fTHe ouw & e T B, 2 fewpe ot sifrafia & @ FeTen smar 8 | T awme=n g 1
=T 3T SHBT UM 3 3HRP?

® 1/5

® 1/15

® 4/15

® 2/15
Correct Answer :-1/15
2)
Question Stimulus :-

How many numbers greater than 100 and less than 10,000 can be formed with the digits 9,8,7,6,5 without repetitions?
/ fo gR1af@ & i 9,8,7,6,5 BT WANT HXdp Tl fhamil TR 9918 &1 Fabell § S Qo0 | SATGT 3R
20,000 '\ﬁ hH ﬁ?

® 120

® 72

® 60

® 24
Correct Answer :-60
3)
Question Stimulus :-

Complete the series choosing the missing letter/s: / [AqW 31&R TTHY 4TAT DI T BIONT : _
_baa _aab _ab _a_

® ababaa

® abbaaa

(18)



® aabbaa

® aabaab
Correct Answer :-aabaab
4)
Question Stimulus :-
Ais twice as fast B and B is thrice as fast as C. The journey covered by A in 9 min will be covered by Cin?/ A @1 7IfdI B
SIS R BH MAcH M AFTFR RN 9 Are A g T It R gh &l c o gua o
T M
e 18 min/ 18 fiFe
e 27 min/ 27 e
e 36 min/ 36 fFc
* 54 min/ 54 f4Fe
Correct Answer :-54 min/ 54 f¥9 e
5)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ"ﬁ &Y AP et P T W ta_ab_a_bb_
bbb _a

® bbaab
® abbba
® bbabb
® bbbab

Correct Answer :-bbbab

6)
Question Stimulus :-

Complete the series choosing the missing number: / AW TBAT TAHY HTAT BT T BT :

145, 170,197, ,257

(19)



® 226

® 225

* 224

® 230
Correct Answer :-226
7)

Question Stimulus :-

A grocer buys 600 eggs at 75 paise each out of them 50 eggs were found broken. At what rate should he

sell the remaining eggs so as gain 10%? | T UHRI 600 38 75 ﬁ@rﬂ'@ﬁm%, T8 9 50 G[%{%W\_rlﬁ%l
IUD! 99 §U 3iS fha= § 99 AT BT ITBI 10% BT YATHT 8172

e 80 paise / T 80
* 90 paise/ IJ 90
® Rs.1/®UT 1
* Rs.2/®UT2

Correct Answer :-90 paise/ T3 90

8)
Question Stimulus :-

By selling a silver necklace for Rs 657, a jeweler loses 8 %%. For how much did he purchase it? / 657
FU & TS did] R B fasht B TP Siiget B 8 %% PI g1+ gidl g1 UaT B 39 al g foba=t & @diar
Yr?

* 720

* 620

* 520

® 420
Correct Answer :-720
9)

Question Stimulus :-

(20)



What is the fourth proportional to the numbers 50, 35 and 20? / 50, 35 and 20 TEal &1

YT JHTIUTaS FIT 82
®* 16
* 14
* 18
® 15
Correct Answer :-14
10)
Question Stimulus :-

Complete the series choosing the missing number: / AW I=AT FIHR 4T B TR HIOT :

50,38,29, /20
e 25
° 24
e 22
° 23
Correct Answer :-23
11)

Question Stimulus :-

In a code, 904 means ‘prices are low’, 389 means ‘stockg, very low’ and 487 means ‘prices
very high’. What is the code for ‘prices very low’? / T% Hdd H, 904 Hadd ‘prices are low’,
389 Hddd ‘stocks very low’ Td 487 Hddd ‘prices very high’| ‘prices very low’ & e & T

R
* 403
° 942
® 489

® 390

Correct Answer :-489

(21)



12)

Question Stimulus :-

A man walks to a place at the rate of 4 kmph, and comes back on a bicycle at 16kmph.the
average speed for the entire journey is? / T ACH T RIF W 4fFHl/90¢ & &= ¥ Ued Id I
SITT €, 3% 9y Agfed R 16fht/ave & amar 8] T amn Ft 3hwd = gift?

® 6.2
* 64
® 6.6
®* 6.0

Correct Answer :-6.4

13)
Question Stimulus :-

In a language, ena bil means ‘cold water’, rip ena means ‘very cold’, hab jar
means ‘sweet dreams’ and jar rip means ‘very sweet’. Which of the following
means ‘sweet water’? / TP HIUI ﬁ, ena bil Hddd *cold water’, rip ena Hddd ‘very
cold’, hab jar Hddd ‘sweet dreams’ ¥4 jar rip Hddd ‘very sweet’. g o g feaer
3 BRI ‘sweet water’?

® rip bil

® rip hab

® jar bil

® jarena
Correct Answer :=jar bil
14)

Question Stimulus :-

In a certain code language KIRAN is coded as LJSBO then in that language SRIKANT is
coded as: / T3l @RI Hiksfd® UTHT §, KIRAN &1 LISBO d Hifsd f&ar &Irar 8 @t S yrwr &

SRIKANT &I B sifsd farar smam:

® TSILBOU

® TSILBMU

(22)



« TQILBOU
« TSILBOV

Correct Answer :-TSJLBOU

15)

Question Stimulus :-

A person purchased a phone and got a discount of 5% from dealer. He sold it at a profit of 10% on his purchase price. What is

his percentage on actual price of the phone?/ Th iR 3 B T 3R D! AP | 5% 3%{2? fieht sT=
T WRIE §S BT W 10% & TATE W I9D! 99 &A1 B ot arafds diud o S9&1 - ufazma

o= 21

e 21%

® 5%

1
Correct Answer :-42 %

16)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 77 33 T IR wai & ¥ K fad A 1d & Jtp I9H o4 I1 TP T8 22

Zoar Outdoor

E-Mail: zoarout@aol.com

Mohawk Trail

Charlemont, Massachusetts 01339

(800) 532-7483

(i) Zoar Outdoor
E-Mail: zoarout@aol.com

Mohawk Trail

(23)



Charlemont, Massachusetts 01339

(800) 532-7483

(ii) Zoar Outdoor

E-Mail: zoarout@aol.com

Mohawk Trail

Charlemont, Massachusetts 01339

(800) 532-7483

(iii) Zoar Outdoor

E-Mail: zoarout@aol.com

Mohawk Trail

Charilemont, Massachasetts 01339

(800) 532-7483

(iv) Zoar Outdoor

E-Mail: zoarout@aol.com

Mohawk Trail

Charlemont, Massachusetts 01339

(800) 532-7483

® jv
Correct Answer :-iii

17)

Question Stimulus :-
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What is the minimum number of straight lines required to make the following figure? / BE) aﬂq"ﬁf & g9 & ol
LAqH F=IT WS fpant Al Yt &t sraxadan gift?

Correct Answer -6

18)
Question Stimulus :-

If COLOURED is coded as 37274568, how will RULER be coded as? / df& COLOURED @ 37274568 & wifgd fpar

SITdT @, < RULER D $d DIfSd far SIram?
e 46852
e 54268
e 54265
e 54285

Correct Answer :-54265

19)

Question Stimulus :-

1 7 3 2 2z 1 3 22
—Ho(2+2)-2 A =

]
7% %% 9 §sequalto/ 7 % % 9 9 ISR TP

[
] e
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K= I O

l
o 7

1
Correct Answer :- /
20)
Question Stimulus :-

In the sequence shown below, which figure comes next? / s feWr T wu & ATl Snpfa
®I A gRI?

oo0 L Jole; eC0O *80
800 8O0 800 @00
eeo L LI L L 1 aae
)
eCe
L 1 3=
[ ]
oo
ol 1
Q00
[ ]
o8
L4 1Y
*e»
[ ]
ewQ
800
L L
[ ]
S@0
*Ce
*ee

Correct Answer :-

21)
Question Stimulus :-

A and B can do a work in 25 days and 20 days respectively. They worked together but B leaves after some days
and then A completed the remaining work in 10 days. The number of days after which ‘B’ left the work was / A

3R B TP BTH B! HATE: 25 3 2R 20 fo7 § T H Tobd &1 ST THA1Y S fhar Afe oo el

(26)



91¢ B I 94T 8 3R i 92 §U &9 &t A 7 10 feai & w1 fovan| e &t e f’oasds ugma 3 A
B oIS faar

wi | —

°
()}
| b

i | —

e 6

® 6
Correct Answer :-
22)

Question Stimulus :-

In a code, 793 means ‘big fat man’, 534 means ‘ppor o_ld man’ and 416 means
‘poor little girl’. What is the code for ‘girl’? / TF ddd H, 793 A9 ‘big fat man’,
534 Hddd ‘poor old man’ T4 416 Haad ‘poor little girl’. ‘girl’ & T w1 I&hd grm?

® Cannot be determined / FuiRa =g fFar s Tpar

Correct Answer :-Cannot be determined / FruiRa 7Y foear -t goar

23)
Question Stimulus :-
In a class there are 15 boys and 10 girls. One student is selected at random. What is the probability that the selected
student is a girl? / TP BT H 15 TSP 3MI¥ 10 TSfHaT 1 TH B &Y HFrad &1 A T SI14T 8| 1 HHTIAT ©
o5 wafra o 4 te asol B2

® 3/5

® 4/5

o 2/5

® 1/5

(27)



Correct Answer :-2/5

24)
Question Stimulus :-
919K /418 =22

Where K is representing a numeral; what is ‘K’? / 919K /418 = 22 \—rlgT K Th LECI ) %; ad ‘K’ T %?

® 6

® 9
Correct Answer :-6

25)
Question Stimulus :-

Two numbers are less than a third number by 25% and 30% respectlvely How
much percent is the second number less than the first?/ E'T J=ITY TR d= d
HHR: 25% 3R 30% HH § | gul GEI ugelt & fovaq ufa=ra &4 §2

1
o 77%

3

e 77%

°« 77%

®* 7%

i
Correct Answer :-77%

26)
Question Stimulus :-

The series given below contains a s'equence.of.al.phab.ets and numbers. Identify the
incorrect combination: / R & 7E @@ el T GBS BT SITHH TANT et 3| T JaoH
UEEIE D]

(i) df807e6uwz

(ii) df8o7e6uwz

(28)



(iii) df8o7e6uvvz

(iv) df8o7e6uwz

e j

® iii

® jv
Correct Answer :-iii
27)

Question Stimulus :-

103 x 104 =7
* 10712
e 10000
e 10812
e 10512
Correct Answer :-10712

28)
Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong
term. / 79 Uy ¥, T@ 49 # TS U Tad 8| T9d UG WA Bifod| 4,9,19,40,79

* 40

Correct Answer :-40

29)

Question Stimulus :-

(29)



CANCELLED

In covering a distance of 30 km, A takes 2 hours more than B. If A doubles his speed, then he would take 1 hour less

than B. A's speed is/ 30 Tt Bt g8 Bt T FA T, A B B Ft g1 | 2 G 31f¥w @ra &1 afg A 3ro=it nify +t
AT X AT &, ) SUSD! B 1 ST HH M A P fa &

° 5hrs/5ﬁ%

1 1
e« 52hrs/ 52 ©¢
* 6hr/ 6

1 1
« 62hrs/ 624
Correct Answer :-5 hrs/ 5 ¢
30)

Question Stimulus :-

(21x3)/7-4x(15/5)-(30/2)x15=?
® -265
e -228
® -230
® -250

Correct Answer :--228

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

Which of the following pair of figures are similar? / 9% # B9 @ ﬂ'@ﬁflﬂ DT gH JH=] %?

1.5 am R I X1 en Iy

3lem

!

/ / L5 am
Lo

B L5 am 2

31l em

A 1.Lam B
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T & ean I g _ & R
/T /
Ao X om 3 <I|},r’_ i ,.'fi i
ol /60
A 6o B P &
[ ]
n Ilan 12 e ‘\‘x_‘.
‘/ Rt
oy ",
* 1o 2.1 ¢t A
E AR
s~'l_| 2lem B " \ .f"-ﬁ': -
° Q
- 8
—_— \,
D7 i
115 \\
58 *0‘}9\
A B Q
[ J
5
n_ tlas o 4. :;L’,-"' ",
L
*1lem 21 ¢cm
4.2 rm
A *lon B ’
Correct Answer :-
2)
Question Stimulus :-
The area of a triangle ABC, whose coordinates are A(xy, y1), B(X3, ¥2), C(x3, y3) is given by /

i ABC & FHE=1® A(xy, ¥1), B(Xa, ¥2), C(x3, y3) B, SUBT &AGA N

V2 [X1y1 T X2¥2 * X3Y3]

Correct Answer :-%; [x4(y; - ¥3) + X2(y3 - ¥1) + X3(y1 - Y2)I

3)

Question Stimulus :-

y1(X2 - X3) +y2(X3 - X1) +y3(X1 - X)

72 [X1(y2 = ¥3) + X2(¥3 - Y1) t+ X3(Y1 - ¥2)]

2 [x1(y2 - y3) + x2(y3 - y1) + x3(y1 - ¥2)]

(31)



Following graph shows the number of International Tourist Arrival to India (figures in
thousands) from 1999 to 2004. Answer the following questions using the information

provided. /

g 71w 3rafr 1999 ¥ 2004 9F 3

B YR H SRTHA & =T (FIRI B T

H 3ipe) RT3l Iudsy FIE TE FHERN ST IUAT HR Y Haral & saE &1

International Tourist Arrivals ('000s) [ 3T Tl T
A= [ 000 s)

Source/
T 1999 2000 2001 2002 2003 2004
Africafr
VRTERT 26 27 28 29 31 33
Americal
AT 122 128 120 115 113 126
Asia
Pacific!
T
EENRE 103 115 121 1 120 153
Europef
PRl 381 393 391 400 396 415
Middle
East/
HET T 21 24 24 28 30 36

From which source has the percentage growth of arrivals been the lowest over the period 1999-2004? / 3rafdr 1999-

2004 ¥ {59 Ol & AWTa @1 wlaza gfs aed 39 53 82
® Africa/3IWBIDT

® Americas / 3AR®T

® Asia Pacific / Q'QTQT W=Iid

* Middle East / T¢ Jd

Correct Answer :-Americas / 3R®T

4)

Question Stimulus :-

If the sum of 2 numbers is 27 and their product is 182, find the numbers. / 'CI'% 2 ﬂ@Tﬁ-ﬁ T AT 27 % Gﬁ? IIDPT
U 182 B, df T@E e

(32)



20and7 / 20 37

19and 8 / 193X 8

15and 12 / 15 3R 12

13and 14 / 13 3 14

Correct Answer :-13and 14 / 13 3R 14

5)

Question Stimulus :-

Following graph shows the number of International Tourist Arrival to India (figures in
thousands) from 1999 to 2004. Answer the following questions using the information
provided. / 19 I 3@ 1999 ¥ 2004 TF 3
H i) REMT 81 IUTsH HIE TE TSR BT IUAT HR Y Haral & sa| |

Tied B HRT H NTHA $1 TBT (ORI P IS

International Tourist Arrivals (000s) [ 3TRE THeH!
= {000 s)

Source/
g 1999 2000 2001 2002 2003 2004
Africal3r
VRTERT 26 27 28 29 31 33
America/
STARERT 122 128 120 115 113 126
Asia
Pacificf
TR
EEUGE 103 115 121 131 120 153
Europef
T 381 393 3N 400 396 415
Middle
East/
HeT Td 21 24 24 28 30 36

In which year has the total number of international tourist arrivals from all the above sources been the lowest? / g ad

A SR faw 1T gt il ¥ Ay Wes! & M $ ou ST 9ad $4 @] 87

® 1999

(33)



® 2001
® 2000
® 2003
Correct Answer :-1999
6)
Question Stimulus :-

The product of 22 x 22000 x using law of exponents is equal to / uiiuIg® & 9 &1 TRt
B g 22 x 22000 » 2 7 UAET F qUH gl

o 24001
o 24000
o 72003

o 22002

Correct Answer :-22003

7)
Question Stimulus :-

A discount of 30% on the marked price of a toy reduces its S.P by Rs. 30. What is the new
S.P? / U @A ¥ Siferd Iou R 30% & ge 7 R IUPT fashd Yed 30 FUT & g Srar 31 =41 fasva
U (S.P.) |18 ?

® 100

® 130

® 70

® 30
Correct Answer :-70
8)
Question Stimulus :-

Following graph shows the number of International Tourist Arrival to India (figures in
thousands) from 1999 to 2004. Answer the following questions using the information

(34)



provided. / 79 UT% 3@fyr 1999 | 2004 % 3
# 3fipe) fREMT 81 IUTey BRI TS SFPRI BT ITANT I 19 Fare! & siare ¢

TP B R § SNTHA B BT (TSR] B TBAT

International Tourist Arrivals (000s) [ 3aRrerT et @
A [ 000s)

Source/
e 1999 2000 2001 2002 2003 2004
Africafsr
VAT 26 27 28 29 31 33
Americal
3T 122 128 120 115 113 126
Asia
Pacific/
LSELpiN]
EENRE 103 115 121 131 120 153
Europef
T 381 393 391 400 396 415
Middle
East/
HET T 21 24 24 28 30 36

From which source has the growth in the number of arrivals been the highest over the period 1999-2004? / 1999-2004

# ford Wd A WA $ TS § S=aH giS 55 372

® Americas / 3ARST

® Asia Pacific / E‘,ﬁTﬂT PRI

® Europe /qgh

® Middle East / T Tlif

Correct Answer :-Asia Pacific / TRRMIT URTid

9)

Question Stimulus :-

Following graph shows the number of International Tourist Arrival to India (figures in
thousands) from 1999 to 2004. Answer thg following questions using the information
provided. / 19 91w 3@f 1999 ¥ 2004 9%

# 3fipe) feEmr 81 SUTSH BIE TS SHPR BT SUART HT A Fare! & wamE S|

(35)

Ticd B YR § AN BT TT (TSR] B TBAT



International Tourist Arrivals (000s) / 3cRTseN et
= [ "000s)

Source/
1n] 1999 2000 2001 2002 2003 2004
Africa3t
VTR 26 27 28 29 31 33
America/
STHRERT 122 128 120 115 113 126
Asia
Pacific!
TR
ERIC) 103 115 121 131 120 153
Europe/
T 381 393 N 400 396 415
Middle
East/
FeT T 21 24 24 28 30 36

From which source has the percentage growth of arrivals been the

2004 ¥ {59 G & AMTHE Bt gl gfs S=au g8 82
* Africa / 3TPIT
® Asia Pacific/ TRMET ¥Iid
* Europe/ PRI
* Middle East/ HeH Td

Correct Answer :-Middle East/ ¢ Td

10)
Question Stimulus :-

The lines x + 2y = 5 and 2x + 4y = 10 graphically represents

& iy &
® 2 perpendicular lines / 2 &9 m
® 2 co-incident lines / 2 Tl WTE{

(36)
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. / ¥@TT x+2y =5 3T 2x + 4y = 10 GRAT =0



® 2 Jines which intersects at (1,2) / 2 w S (1,2) I®¥ Elﬁﬂ_q’ B %

® 2 parallel lines / 2 THIAR @Y
Correct Answer :-2 co-incident lines / 2 HUTI Y@1Y
11)

Question Stimulus :-

A box contains Rs. 180 of one-rupee, 50-paise and 25-paise coins

in the proportion of 2 : 3 : 4. How many 50-paise coins does

it contain? / U TG H 180 To P 2:3:4 U # 1-%0d, 50-UF T4 25-0F & R g1 399 50-18 F

o R amfaw 82
e 150
® 130
® 120
® 240
Correct Answer :-120

12)

Question Stimulus :-

A collection of points in a plane which are at a constant distance from a fixed point is called a ./ f<ht

o fadg 9 RR @ R & & aa ¥ fomsi &1 g

Fedr gl

* Ellipse / ddga

® Circle / 9@

® Parabola / URATH

® Hyperbola / SifduRge™d
Correct Answer :=Circle / 9d
13)

Question Stimulus :-

T'he volume of a cuboid with length ‘x’, width ‘y’ and height ‘2’ is
TS ‘2 B, SIPT A &

2y sz +xz |
. : ;

(37)
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o XVElMI+Xr

Xkpz

Correct Answer :-

14)

X#EpEZ

Question Stimulus :-

Following graph shows the number of International Tourist Arrival to India (figures in
thousands) from 1999 to 2004. Answer the following questions using the information
provided. / 19 71w 3@fY 1999 ¥ 2004 dF 3i
# i) REMT g1 IUTH HIE TE TSR BT IUAT HR Y Hara! & sa™ S

qdce F1 YR H NTHT B TBAT (TSIRI B T

International Tourist Arrivals (000s) [ dcRreT et T
= | '000s)

Sourcel
o) 1995 2000 2001 2002 2003 2004
Africafar
TRt 26 27 28 29 31 33
America/
FTHRFT 122 128 120 115 113 126
Asia
Pacificf
e
LRI 103 115 121 131 120 133
Europe/
o 38 393 391 400 396 415
Micdle
East/
Fer 7d 21 24 24 28 30 36

In which year has the increase in the total number of international tourist arrivals from all the above sources been the

lowest? / fp® adf § SR faw g Wt il & AR Wed! & SMTHA $1 o TSI # gl a9 B4 @ 82

® 2000

(38)



® 2001
® 2002
® 2003

Correct Answer :-2003

15)

Question Stimulus :-

Which one among the following options is not defined? / Fafafea & ¥ «19 a1 e uRyita el %?
® sin 0°
® cos(°
® tan(°
® cosec (°
Correct Answer :-cosec 0°
16)

Question Stimulus :-

Name the tissues through which the water and dissolved minerals are transported in plants. / 3 S dd BT ATH ddIgT

Rrad grT i SR el wfe diel & vgad @
® Phloem / GIYdTE
® Xylem /GIlgelH
® Root hair / Y& 3|
* Veins / RRT
Correct Answer :-Xylem /SITlgaH
17)

Question Stimulus :-

Percussion instruments are / TRAST 4T € :
* Tabla, Dholak, & Drums / T¢I, gla® T4 §H

e Sitar, veena ,violin / RIaR, diun, arafer

(39)



® Cymbals ,ghatam, not / mﬂvr, TdH, Tl
® Jaltarang,ektara, kartal / STeld, SHARI, DHIATA

Correct Answer :-Tabla, Dholak, & Drums / dddl, gld® Td H

18)
Question Stimulus :-

Pick out the nonmetal which is a liquid at room temperature ? / 3 3[UTJ BT TIT ?ﬁﬁm S FEY &
AT W 59 gt 82

Phosphorous / TBIWBIRY
Bromine / ‘9ﬁ1ﬂ=r

Todine / 3‘"’&1@7‘[
Carbon / GO

Correct Answer :-Bromine / SIHIS

19)
Question Stimulus :-

After playing foot ball, Ramu felt tired and was breathing fast. What can be the possible scientific reason? /
Peaid Wad P 91¢ IV DI YPT WegH 8§ ST al doil A Ji A T | SHPT FT JHT AP BRI
B BT B2

®* The food that he consumed might have exhausted / Ui St S8 m%m % CIRCC] e‘r
T NI

* Blood circulation may not be efficient / meﬂﬁ%

® Supply of oxygen was not enough to produce energy /G:‘_vl'f frrvfor & ﬁﬂ'{ SR Bt arrqﬁ i Tl

 He lost much water through sweating ; wiR & gr1 39A sga W uHI @ fRar @

Correct Answer :-Supply of oxygen was not enough to produce energy /Ch‘_vl'f ffafu & PQ'TE SfTRITeT BT
ATy Tafed =TE §

20)

Question Stimulus :-

Greenhouse effect is caused due to / FF8REY YHE 599 T ) USdT 82

(40)



UV rays /'gﬁf vl
IR rays / \3'I'I€GI'R' ool
Cosmic rays /Gi_\'lﬁ&‘[ fopeol

Microwaves / J&H ol

Correct Answer :-IR rays / 333 fH0f

21)

Question Stimulus :-

To put out fires involving electrical equipments and inflammable materials, the best fire

extinguisher would be / fagad IuHUN R SaaRN Ut I o 4fY o g & g Tdgy
SRr=m® R

Water / Sid

Blankets / aCl

Carbon dioxide / CACE| 313'3{73'\‘“33
Sand / ©T¢]

Correct Answer :-Carbon dioxide / PTIT SIS TS

22)

Question Stimulus :-

Which of the following type of soil has the smallest particle size? / o a3 frg ver Hal & HUN BT
ITPTR TS Blel §IeT 82

Sand / 9T¢
silt /Mg

Clay / TRI=i gar
Fine sand /'Fl_a:f 97

Correct Answer :-Clay / far&=1t qa1

23)

Question Stimulus :-
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Combustible substance obtained from decaying organic matter is / &IHI S terd 9§ Ut RN Terd E:I'ﬁ
q 1 F?

* hydrogen / BTSS IO

® petroleum / a@ﬁﬂﬂ

* BothAandB / GHi A3RB

® carbon / CAGE
Correct Answer :-petroleum / UeITerd
24)

Question Stimulus :-

The manmade fiber obtained by chemical treatment of wood pulp is / ®& g’*‘lﬁ ¥ IS ITER | A
BICCERI

® Rayon / 34T

® Polyester / Uiferdex
®* Nylon / H‘I’éﬁq

® Terylene / RGN

Correct Answer :-Rayon / 3¥3{9

25)

Question Stimulus :-

Sliding friction is always / gfte o ﬂéﬁ GﬁT % 2
® Less than rolling friction / S g4 A HH
® Greater than rolling friction / e gvur § Siftre
® Equal to rolling friction / ST 99T & JHH
* Greater than static friction / Qfd® gvur I 3ifs

Correct Answer :-Greater than rolling friction / e 99U § 3ffd®

26)

Question Stimulus :-
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1 litre of water at 40°C is mixed with 1 litre of water at 60°C. What will be the approximate temperature of water

afteracertaintime?/40%ﬁma’_1@3?333%60@@’%@%1%%%“2{
feraman <mar 81 fFraa 9w 91g 5 &7 Afade argw w®ar g

 100°C / 100 f&3 AfRTIHI
e Between 40°C and 60°C / 40 f&f Af*mw vd 60 it AfRoa & Si=1

* More than 60°C but less than 100°C / 60 3 AfRw I sifvre wfe 100 &3 AT o
I

e 20°C /20 &3t Af_TTI
Correct Answer :-Between 40°C and 60°C / 40 f3ifi @f*aw vd 60 fE3ft Afma & Sl

27)

Question Stimulus :-

Which of the following serves as green lungs / g i o Eﬁ' m & U H S Hdl %

® Green house / ‘/ﬂw
® Gardens / CRIE]

® Forests / 94

® Green- house gases / 'mq?l?f\q Eir|

Correct Answer :-Forests / 94

28)

Question Stimulus :-

When crops like onion, radish, carrots are grown in the field, we find the young vegetables available in the market.

Why is it so? / S8 TITST, Tail, Mok oI ol @) Wl # gix gid 8, 89 ga1 afoqdl & Ik & Suas
urd 1 ST i BT 82

®* People prefer to have young vegetables like spring onions, etc / Gt Wﬂmﬁﬁﬁ?
B W 3M1fE &1 Wi 7 &

® There is lot of taste difference in the different stages of growth of vegetables / \‘:I'%I'q-)f G| Q'@ CANGIRIP]
SaxyT3fl # waTg # 9gd 3a¥ §

® This is done to avoid over-crowding of growing plants. So, the young plants are removed from time to time as

they grow / T 3feT frar witar 8 R fr gfs o7 @ Wel 5t oify 7 9 o= w1 91 s9fe
B gar viel @ 99 99T W ger four Srar 8
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® People like to have some of the crops regularly in their diet. Therefore, these crops are removed from time to
time. / T $© wHa! @ Frafta 0 Srae @1 # MR HA1 Wig F3d 81 ST I8 mad
HUY-HT W geT &f ol g

Correct Answer :-This is done to avoid over-crowding of growing plants. So, the young plants are removed
fromtimetotimeastheygrow/ﬂ?mﬁmGﬂ?IT%m%q@m@fﬁ%ﬁ&ﬁ &rﬁrmﬁrﬁwm
& | 3afere g gar Wl &) gHg gug W ger fur war @

29)
Question Stimulus :-

The sexual reproductive part of the plant are / utel BT 9 YS9 T %

® Flowers /&0
e Stamens / GH¥R
* Pistil / FATPEAX
® Zygote / QTH-S
Correct Answer :-Flowers / T80

30)
Question Stimulus :-

Turmeric which is a natural indicator, when added as a paste to HCL and NAOH separately, the colors observed will be
/ TS, Sl MTPHTad Jad €, Fd HCL 3R NAOH B SAT-3AT IHYT W UE & ¥4 § STam orar §, W 3
g

e Yellow in both acid and base / 3 Td &R% Sl A diad

® Yellow in acid and red in base / 3& # fid 3R &Ih | o

® Pinkin acid and yellow in base / 3% | m 3R aRe # dia

® Red in acid and blue in base / 3%l # e 3R gR® H A

Correct Answer :-Yellow in acid and red in base / 31 # did e tIRED o o
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